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_ SECTION A
All the first4 questlons are compulsory They carry 1 mark each.

1. Solve: y = cosh4x.

2. Find the Wronskian of the functions et sint and e! cost.
J- Findthe Laplace transformof t - 6t2. -~ | A
4. Findthe fundamental period of cos gx. ' - (4x1=4)

SECTION-B

Answer any 7 questions from among the questlons 510 13. These questions carry
2 marks each.

/5. Find the orthogonal trajectones of the family of curves y2 kxS, R
5 2.‘ . E - - - ‘

S
6. Solve : ax 32 y(0) =

7. Solve : cos(x + y)ax + (3y2 + 2y + cos(x + y))dy = O.
8. Solve the initial value problem, y* —y =0, y(0) = 6, y' (0) = -2.

; . _ 45— 3n .
f Find the inverse Laplace transform of & a2

1 9]/ Applying Laplace transforms solve the initial value problem : y' + 4y =0, y(0) =2.8.

- P.T.O.




perrod 2n. : E

f-m<x<0 2 o | ' s

f(x) = { _ : :
X If O<x<ng :
12.-Solve for u = ulx, y) : uy +2yu=0. _

(\15 Find the value of c in the one dimensiona| wave equation such that y = 42+ 2jg
a solution to it, 5 , _ (7x2=14) -

14 Find an rnfegratmg factor and solve (ex+y 4 yey)dx + (xeY — 1)dy =0, y(O) =

15. Solve the initial value problem: y" + 4y - 16 Cos 2x, y(O) 0, y(®=0.
16. Solve.x2y —4Xy'+6y =0, y(1)—1 y(1)=0.

1]7 Using Laplace transforms solve, y(t)'— j y (7')sin(t - ﬁ)dT:t..

X i —1<x<0Q
18. Frnd the Fourier series of the function f of period 4 wheref(x)={ x if o < el

1 if1<x<3
: 19 Find the type, transform to normal form and solve 0. = 4qu + 4u =0. (4x3_1 2)

SECTION=D

20. Find all initial condrtrons such that (x2 - —4x)y' = (2x 4)y has no soluflon
precisely one solution, and more than one solution. ,

21. Solve : (D2 - 2D + Dy = x2 + x2¢x

%f’f Applying Laplace transform solve the following sysfem
y1+}’2~0 Y1(0) = 1
Yi+ ¥, =2 cost, Y2(0) =0

3. Find (a) the Fourier cosine serfes and (b) the Fourier sine series of the function,
fX) = n—x 0<x < 2.




